Round Base Monitor Stand

] 3
il 12




Parts for Assembly

60"”/88 Ibs. Max Monitor Size

.
a = D B @ - = gkz\ eﬂ ®K2
) TP = (N )
) — f 3 )
ﬂ | * o = ‘%}J / 0 Q)
, :D | = |
” ” - [T é
p U J [I. . @}d 611 @:ﬂ m11,
- =
-
\1 (@
- /) Y
]
ST4.8x38 M5x10 4mm Smm
[ M-A B M-B I [ M-C f [v-D I8
@ [ §
| ® @ @ @
M5x14 M6x14 M6x30 M8x30
@ | v-£ FXEENNI v-~ ECENNT -G ECHN -+ [
N H —_— = []
L T— — — — — __§; @ @
i_ ; @5‘] o0
@"—————E M8x50 5mm 15mm
iy

*Note: included are wall mount parts not needed for assembly




0-

s

T Keep cord
apenings in
back of stand.

0 0 0 T

o .
uﬂE!!qzjn::nmﬂmﬂ|H B4

J
e
\

(4

|

ﬂﬂ;ii%%:nczznmzmﬂ|h|ql

L

@, 69 x8
(59
6b ~ !- / ” ~ ¢
e ===
:, 3| |F d ¥
2 Py 2 ¥
o I I
[ .
¥ ) =l p ) Remr::ethe

knob and set

!,} aside for use

the TV

when installing

y,



Adjust to face forward.

\

G

lr\ i

“srlﬂ

|

Make sure the TV bracket locks in
and is full assembled, adjust to
proper height using G wrench.

L




How to choose mounting screws for your TV

e mwwe) ()

¥y

Choose the suitable length screws

(a)For Flat-backed TV
Brackel Short Screw Washer
1

The back of the TV

(b) For Irregular -backed (Rounded)TV

Long Screw  Washer

Er::lckel I

P
(a1l) For Flat Screen TV

Mote: Ensure brackets 5c are oriented in the same
A direction with tabs pointing to the top of the monitor.
( 32) r,/'
o T O

(MRS B

Mote: Ensure brackets 5c are ariented in the same
direction with tabs pointing to the top of the monitor.




When installing, note that rail 5b should be installed at the top
of TV set, then screw in 5e knobs. Repeat for rail 5d at

bottom.

close to 1/2
length of knob
thread

. "y

When the TV is installed, the knob is hung
into the supporting panel slot as shown in

5 figure.




Use H wrench to turn the knob until

the thread in knob is screwed close
———— t0 1/2 length.

=




	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7

